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Profit and Loss | ¥ 31X g4

Find the CP of an articles which is sold at
1331 at profit of 10%

1331 % ¥ 10% % o9 T I T a5 & F9 77
@ FH

(A) %1210 (B) ¥1000

(C) %1110 (D) 1310

Find the CP of an article which is sold at

2
3430 at a profit of 163% .

3430 & ¥ 16%%3%61%#11?&%?[11%%@;@1@

Bl R

(A) 2940 (B) ¥2840

(C) k2740 (D) ¥3040

If the cost price of 10 articlesiscecqucalc
ctoc the selling price of 9 articels, the gain
or loss per cent is:

A 10 TG 1 ARG TeF 9 TGS & faq, & TR
2, wfterd o =1 e T R

1 6
1-% T—%
(A) 15 % B) 755%

1 12
12—% 1—%
(©) 125% D) 1%

If the selling price of 10 oranges is the cost
price of 13 oranges, then the profit
percentage is:

10 Ta¥ % a7, 13 g & a9 % e @ al giaw
A @ A

1
(A) 20% (B) 2%

(C) 25% (D) 30%

Costprie of 16 articles is equal of SP of 14
articles. find profit or loss %

16 SEgatl 1 %A e 14 a&ge & fag, & W T
AR % T H

2 2
(A) p%=147% (B) p%=127%

2 2
(C) P%=153% (D) P%=13%
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6.

After selling 72 artiles man earns a profit of
SP of 9 articles. Find profit %

72 FEGRT I A W TH ARH H 9 TN & fa.
T, T AT B F| AT % I R

(A) 15%% (B) 18%%

(©) 12%% (D) 14%%

After selling 72 articles a man loss SP of 9
articles. Find less %

72 TGS I dEH T TH AT 1 9 TGS & o,
1 T B 21 = % wE R

(A) llé% (B) 12%%

(©) 9%% (D) 15%%

After selling 72 articles a man earns a profit
of CP of 9 articles. Find profit %

72 FEGET I AT W TH ARH H 9 T & FA
N A B F| AT % T F

(A) 15%% (B) 13%%
C lzl‘V D lol‘V
(©) 125% (D) 102%

. : 2, .
A shopkeeper sells his article at 16§ % profit
on SP. Find his actual profit %.

T THMAR fordlt g =l fasha gea w 16§% &4

W G | ardfos e T FI
(A) 40% (B) 15%
(C) 25% (D) 20%

1
10. Rajat sells his goods at 85% profit on SP.

Find actual profit %.

i fwet ong =1 fasa o W 8%% NG|
B ot o % A H

1

(A) 6%% (B) 83%

1 1
9—% T—%
(©) 95;% (D) 75%
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11.

12.

13.

14.

15.

A dishonest shopkeeper promises to sell
his goods at its CP but he uses 30% less
weight. And the profit % is:

T SEHF THAIR A Tgeti B H.G, W a9
T H | TG T8 30% FHH T FAN HT S| A
% A HAN

(A) 40%% (B) 42%%

(©) 43%% (D) 45%%

A shopkeeper promieses to sell his goods
at 44% loss but the uses 30% less weight.
Find actual loss%

T FHMIR ST TGl 44% B TR = T AR
AT & W T8 30% S HA el ¢ artaeh g
% T U

(A) 20%L (B) 22%L

(C) 18%L (D) 25%L

A shopkeeper promises to sell his goods at
10% profit but he uses 20% less weight. Find
the profit %

T THMRR AT TG i 10% T TR a1 1 a1
AT € T o8 20 FH T drerdl €1 N % I H |

(A) 35%%[) (B) 29%%13

Q) 37%%13 (D) 36%%[)

A shopkeeper promises to sell his goods at
x% profit but he uses 20% less weight thus

1
gain 375%. Find x.
T THMIR I TG I x% AT TR I= HT AR

1
FA T WA TE 20% TS FH Al © SN 375%

T FEC 7 x F HA T H

(A) 10% (B) 12%

(€) 11% (D) 9%

A shopkeeper promises to sell his goods at
X% loss but he uses 20 less weight thus
gain 20%. Find x.

T THMRR 3T FEgstl 1 x% T W a9+ H1 =T
FA © WA TE 20% FHH oIS el & SN 2039.
A shopkeeper promises to sell his goods at
x% profit but he uses 20% less weight thus

Profit and Loss | 11 3 g1f+

16.

17.

18.

19.

1
gain 375% . Find x.

T THMIR T TG 1 x% AT W T94 61 A
A © T TS 20% oS HA alerd © SN 20%
T FHC T x F AE TG H

(A) 2% L (B) 5%L

(C) 3% L (D) 4% L

A dishonest shopkeeper makes a chating
of 20% at the time of buying the goods and
40% cheating at the time of selling the
goods. He promises to sell his goods at 10%
loss. Find the profit %.

T JEHM THFIR TSd A 20% KT A FA 7
IR ST FHT 40% T TR AT T qE A et
1 10% BT T T2 1 AT @ S| AT % T F
(A) 75% (B) 70%

(C) 80% (D) 85%

A dishonest shopkeeper makes a chating
of 20% at the time of buying the goods and
40% cheating at the time of selling the
goods. He promises to sell his goods at 20%
loss. Find the profit %.

T IEHM THFIR THISd THT 20% 1 A0 Hl 7
3R w=d T 40% T A0 HE1 2| qE A A
T 20% B T S H G HLA T AT % A F
(A) 75% (B) 60%

(C) 80% (D) 85%

A shopkeeper marks his goods 40% above
the CP and gives 25% discount to customer.
At the time of selling the goods he uses 800
gm weight instead of 1 kg. Find his profit%
TH THMER AT ogsll W HF qod | 40% AT
sifehd Yo forert 7 3R esh 1 25% I 9 3l 7
I THA 9 800 U1 TS FAM e 71 (1 FRar H
SFE) A9 % A F?

(A) 30% (B) 29%

(C) 31.25% (D) 32.75%

A shopkeeper marks his goods 40% above
the CP and gives 25% discount to customer.
At the time of selling the goods he uses 750
gm weight instead of 1 kg. Find his profit%
T& THMER AT sl W FF qoF | 40% AR
sifehd qo forert 7 TR e 1 25% H 9 Xl B
S A T8 750 T IS T w4 21 (1 e w
SAE) W9 % @ HU?
(A) 30%

(C) 40%

(B) 29%
(D) 32.75%
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20.

21.

22.

23.

24.

the CP and gives 10% discount to customer.
At the time of selling the goods he uses 900
gm weight instead of 1 kg. and at the time
of buying he uses 1100 gm instead of 1 kg.
Find his profit %.

T& THMER AT el W FF qed | 20% AR
3ifehd o X © SN ek HI 10% T S T B
I wEG 1 FREl ®T SE 900 TH. A9 WA HIA 7
IR Tt 99 98 1 fRel w1 S 1100 W F9E
TAT FHA BN A % T H

(A) 33% (B) 35%

(C) 32% (D) 32%

A shopkeeper marks his goods 20% above
the CP and gives 10% discount to the
customer. At the time of selling the goods
he uses 864 gm weight instead of 1 kg. and
at the time of buying he uses 1100 gm
instead of 1 kg. Find his profit %.

T& THMER AT el W FF qed | 20% AR
3ifehd o X © SN ek I 10% T S T B
I T | el F SR 864 FH. IS TAN HIA 7
IR Tt 99 98 1 fRel w1 S 1100 W F9E
TAT FHA B A % T H

1
(A) 33% (B) 3%

(C) 32% (D) 32%

Krishna purchases some article @ 11 article
for %10 and sells all the articles @ 10 articles
for%11. Find P % Or L%

FOM A 11 9T 10 & % feqe @ T &R 10 awqd
11 % & feoa @ a= an/ef % T &

(A) 25%P (B) 28%P

(C) 21%P (D) 18%P

Karan purchases some pen @ 6 pen for I5
and sells all the articles @ 5 articles for 6.
Find overall profit or loss %.

FO A 6 ke 5 T F fEEE U TG R 5 FeW 6
T % fedm @ o= a9/ % T w0

(A) 46%P (B) 48%P

(C) 44%P (D) 38%L

Amar purchases some apple @ 1 apple for
%2 and same no. of apple @ 2 apple for T1.
He sold all of them @ 4 for %3. Find profit or
loss %.

M FT YA, | T92 T & femn 9, a7 & 99, 2
T 1 T B WY TR N 3T Teft ¥, 4 T3 %
F WY G| AR % T H
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(A) 70%L
(C) 40%P (D) 32%L

Sushant buys some apple at the rate of 5
for %1 and same no. of apple @ 4 for 1. He
sold all of them @ 9 for ¥2. During the whole
transaction he incurs a loss of ¥30. Find
the no. of apples that he purchased.

T 4 B ¥, 5 99 1 & H L F, 3a9 & 94, 4
I 1% H R Y TGOS S T 99, 9 G 2 T H
WY 99 KUl 37 99 & IHHT 30 TO FT & g3 |
qal & 9& Fa F
(A) 12500
(C) 10200

(B) 10800
(D) 11600

26. Cost price of 24 articles is equal to SP of 18

articles. While the discount on 10 article is
equal to the profit earn on S article. Find
the difference between P% and D%.

24 SEge 1 F. G, 18 TR F Y F WeR T
Safeh 10 aFgeTl W 522 (D) 5 a&gell | a4 (P)
% IO B I % IR 9L % H =R 6w
(A) 11.11 (B) 33.33%

(C) 22.22% (D) 10.10%

27. CP of 12 articles is equal to SP of 9 articles.

28.

while the D on 8 article is equal to P on 6
article. Find the difference between Profit%
and Discount%.

12 oegett w1 % g 9 wegell & fag % SR R
S § TEge W T SR 6 TEGI W oY SR T
AT % 3R T % H IR A HI

(A) 18.5% (B) 16.6%

(C) 17.6% (D) 20.8%

By selling 12 oranges for a rupee a man

losses 20%. How many for a rupee should
he sell to earn 20%

1% ¥ 12 @ 991 W Th STEHT i 20% i BT Sl
21 20% o9 FHA & fau 1 & § 39 ford 9@ s=1
=fgu?
(A) 8
(C) 12

(B) 10
(D) 6

29. By selling 45 oranges for ¥40 a man losses

20%. How many should he sell for ¥24 to
earn 20%

40 T H 45 HR 9 W Tk AEH I 20% HT B
B T 20% T FAR ® T 24 T B W F @RI |
% o 39 fea 9R = =ifen aifw 9 25% 1 oy
7?2

(A) 20
(C) 18

(B) 16
(D) 12

Profit and Loss | T 31 &ifs
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30.

31.

32.

33.

34.

Bipin purchases some no. oranges @ 25
oranges for ¥1. How many for a rupee
should he sell to gain 25%?

fafm = %9 @, 25 TR T 1% A RI TR 1 &
H 39 fore H@ 9= Afeq ik 39 25% M o9 817
(A) 18 B) 22
(C) 20 (D) 16
Lalu Prasad purchases some no. of oragnes

at the rate of 11 oranges for ¥1. How many
for 1 Rs. did he sell to gain 10%.

A J91E 3§ /B R, 11 TR 9T 1 % X F TR
10% @9 & faw 39 1 & ¥ fed §®R s=1 3?2
(A) 10 (B) 12

(C) 8 (D) 9

By selling 32 oranges for a rupee a man

losses 40%. How many for a rupee should
he sell to earn 20%

1 % ¥ 32 G oe T TH TH STH Hl 40% HY M
It T1 20% 1 T FAA & forw 1 & H <9 fRa
T a9 q=?

(A) 20 (B) 14

(C) 16 (D) 22

Yogendra purchases some nbo. of articles

2
at 600 and he sells grd of them at 5% porfit.

At what profit % should he sell the remaining
to gian 13% overall?

aﬁaaoggar@isoooaﬁ@ﬁw%aﬁwwﬁag

AT 5% T T G A T T gE AU He T %
R o9 fF 30 weft Sxgeti W KA 13% FH A9 I
(A) 29% (B) 30%

(C) 28% (D) 32%

Sanju purchases some no. of articles at

3
1000 and he sells 3 of them at 12% porofit.

At what loss % should he sell the
sremaining to gain 4% overall?

TY 7 D L 10000 T H TS | 3H 9 %,12%
AT R o= | T gE A HI TR BI% W AL
o 30 w1 TR 4% &1 a9 B

AEO/ Bgo/
@) S % (B) 5%

Cio/ Di"/
(© % (D) 5%

Profit and Loss | 11 3 g1f+

1 0, . . .
11541 more than loss incurred when it is
sold at ¥5270. What would be the selling
price if he wants to earn a profit of 10%

T o 1 7170 T H so W e aren oy 39t a5

5270 %. | a9t fHem At &f 9 llé% e B

10% &9 FAM & fau owg *1 79 F9a | =
Te?

(A) 6802
(C) %6787

(B) ¥7600
(D) 6605

36. The profit earned when article is sold for

¥8000 is 20 times theloss incured when it
is sold for ¥2750. Find at what price he sold
his goods if he wants to earn 20% P.

6 Tk 9% I 8000 % W ww1 Sl @ o SEE fier
Al TN, ST SHT e H 2750 T H S A B G
B Al I 1 20 T 1 T H R 20% o FEH

% fau axg =+t fFw wma W s= =fge?
(A) 3400 (B) T3800
(C) T3200 (D) ¥3600

37. Deepak sold a TV for ¥9400 then he lost a

38.

39.

paricular amount. When he sold another TV
of the same type at ¥10600, his gain was
double the former loss. What was the cost
price of each TV?

Ay o9 T Al T2 9400 T H A=l € A 3H TH
fifia e 1 w1 Bt § sl @ 9w g A g
1 10600 T4 § Swar €l 5§ fmel w1 & <
o9 Il ®, A Y LAl U2 w1 %A god 3 w0
(A) 39800 (B) 10000

(C) k10200 (D) *10400

A shopkeeper sells his goods at 7% P. Had

he sold it 4200 more than he would gain
13% P. Find initial CP.

T SRR ToRelt o i 7% o9 W s=al 81 TR &
THRI T4200 S W Sal @ A SH 13% 1 o g
21 yRFT . g, T FI

(A) T80000 (B) T75600

(C) 65900 (D) T70000

Bipin Sharma sells at 9% loss. Had he sold

it 800 more than he would gain 7%. Find
initial cost price.

faftm vt foreht aeg =t 9% =1 W =l B1 SR a7
THH! 800 T. AR H =al d@ I 7% HT T Bl
YRS . . o1’
(A) 5000
(C) 6000

(B) T10000
(D) 7000

Maths 5y Bhagwati Prasad Sir



40.

41.

42.

43.

44.

purchase it for 20% less and sold it for Rs.
20 more then he would gain 40% Find initial
CP.

forenm fordlt &g 1 10% o9 R =l 21 7R 394 39
20% FH H T B 3R 20 T AR H =1 e at
3H 40% 1 o9 BNl IRIAE ®. G, @ A

(A) ¥980 (B) 1200

(C) 1000 (D) 1160

Reshav sells his goods at 20% P. Had he
purchase it for 10% less and sold it for ¥18

less then he would gain 30%. Find initial
CP.

o ferdt &g I 20% @19 R S B SR 9 39
10% %A H TR el 3N 18 ©. A W s g a 39
30% 1 A9 Tl URIYE & | W

(A) 2620 (B) 580

(C) %600 (D) %640

Sandeep sells a table at a profit of 10%. If
he had bought the table at 5% less cost and

sold for ¥80 more, he would hoave gained
20%. the cost price of the table is:

G et a%g 1 10% N9 W S 21 AR 97 o
T 5% A oI W BEHT 80 T. ATHE qod W =
A IV 20% T AH BT, A B HT AN oI FA B
(A) 3200 (B) 32500

(C) *2000 (D) %200

Vikram sells his goods at 20% profit. Had
he purchase it for ¥300 less and sold it for

%200 less then he would gain 10% more
profit. Find the initial cost price.

forenm fordht &g 1 20% o9 R =l 21 TR 3T T4
300 T. A H BT AT SR 200 % FH § d= @,
3™ 10% SAfaferm ey g YRS %, 9. 3 |
(A) *2000 (B) 1900

(C) *1800 (D) *2100

Nimesh sells his goods at 25% profit. Had
he purchase it for I500 less and sold it for
Z500 less than he would gain 5% more
profit. Find the initial cost price.

e fepelt o =1 25% o T = @1 3R SO 39
500 % %9 H T g1 3N 500 % HH F S e
A IH 5% A1 AN A9 B AR FF. . I
I

(A) T3000
(C) T2800

(B) T3200
(D) 3300

Maths »y Bhagwati Prasad Sir
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46.

47.

48.
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An article is sold at 10% profit. If its CP and
SP are increased by 15 and 35
respectively, the percentage of profit
decreases by 5%. Find the cost price.

Tk %] I 10% o9 W 91 S S| A TR A
qo dn ok o FHe: 15 T qen 5 % 9 fan
ST € Al o H 5% Wi w8 Sl 21 o hl %A

q 2
(A) %215 (B) 3213
(C) X512 (D) %312

The total C.P. of 2 waatches is Rs. 840. oNe
is sold at a profit of 16% and other at a loss
of 12%. There is no profit or los on whole
transaction. Then find the C. P. of each
watch.

3 wfgal 1 w9 god 840 %. T Teel W€l H 16% B
o W SR TE ST B 12% HT EI W A= S L
) ufgal & Wi W HIE oy I M el et al uea

H FA YA FAT B
(A) 360, 480 (B) 320, 480
(C) 360, 460 (D) 340, 420

Total C.P. of chair and table is Rs. 20,000
Chair is sold at 10% profit and table at 10%
loss and shopkeeper gains Rs. 450 on
whole tansaction. then the C.P. of chair and
table was-

T HEl R B H HEG 20,000 T T HHT B 10%
o W AR A H 10% T T W =1 ST © gHd

THEFER B QP YR W 450 T. F1 o9 el & df FHl

3R B ®T FEG F BN
(A) 22250 (B) 12350
(C) 12750 (D) 12250

A businessman bought 5 horses and 10
cows for Rs. 10,000, he sold each horse at
15% profit and each cos at 10% loss. He
gained Rs. 375 on whole transaction Then
find the price of each horse.

T SN 5 g SN 10 M 10,000 T W TEEd @
€ TAH TS H 15% oM T R Gedeh T 1 10%
eI W S B R U WS 375 . T AIH gl @
T YAF WS H YA FA B

(A) 1200 (B) 1300

(C) 1100 (D) 1400

Profit and Loss | T 31 &ifs
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49. If 450 pens which have equal costs are

categorized in three types to sell them at a
profit of 9%, 10% and 12% respectively. If

3

overall profit on first two types is 9 7 % and

the overall profit during the whole
transaction is 10%. Then find the number
of pens in all categories.

TM HHT 1A 450 T FY Tkt & ford e ogel o
i1 T B3 RN W 9%, 10% AR 12% T A1 Bl

2 afg vgdt <A Fqel W 9%% F1 T B IR

T} W 10% T o9 e @ dA wgel § U w5 gen
ERIIUIP

(A) 60, 90, 300
(C) 50, 150, 250

(B) 50, 100, 300
(D) 200, 150, 100

50. A person bought two watches for Rs. 480.

S1.

52.

He sold one at a loss of 15% and other at a
profit of 19% and he found that each watch
was sold at a same price. Find the C.P. of
two watches.

T Al < HEA 480 % Wliedl € Yeel Sl
T 15% T BT W W T TS HT 19% F O R
St @ 3R 9% U € S sfeal w1 foska ged wHH
?1 @ <A TfEA w1 %A ged A erm?
(A) 240, 240 (B) 380, 100
(C) 140, 340 (D) 280, 200
A man sells two articles for the same price.
He sold the 1st article at 15% loss and
second article at 19% profit. I he bears a

loss of Rs. 480 on whole transaction then
find the difference between their C.P.

T AfF q FEGeH F TR fIFT god WS ?
el 9% F 9T 15% T W IR T T% F 19%
% T W SFd TR FR W IY 480 T KT BT BRA
2 <Al ogetl & %A gog | feRa iR gm?

(A) Rs. 9600 (B) Rs. 5600

(C) Rs. 4800 (D) Rs. 7600

A man sells 3 articles 15t at a loss of 10%,
274 at a profit of 20% and 3™ at a loss of
25%. If the S.P. of all the 3 articles are same
and he bears a loss of Rs. 50 on whole
transaction then calculate C.P. of all 3
articles.

Profit and Loss | 11 3 g1f+

53.

53.

54.

55.

T Af 3 TGSl § | qgel a%g &l 10% i FM W
T 1 20% h H T AER Rl 25% ht BT T A=
2 ofR i aeqet w1 fawd g IR € At gt 9R
W 20%. H B B A AR AT W OFA eI FA
gM?

(A) Rs. 550 (B) Rs. 580

(C) Rs. 590 (D) Rs. 690

A shopkeeper calculates his profit on S.P.

and obtains a profit of 20%. Find his actual
profit percent.

T Al A9 e T e W Sear § afg 39
20% AN T T A SUHT SIATF AT FT A2
(A) 15% (B) 25%

(C) 20% (D) 10%

A shopkeeper calculates his profit on S.P.

and obtains a profit of 20%. Find his actual
profit percent.

T Al A0 e T ged W Sear § afg 39
20% 9 BT T A SHRT ARATH T FIT SM?
(A) 15% (B) 25%

(C) 20% (D) 10%

A calculates his profit on s.P. whereas 'B'
calculates at C.P. If their S.P. are same, 'A’
gets 25% profit and 'B' gets 15% profit and
difference between their profit is Rs. 275,
then find their S.Ps.

A T e fosha 9o W Siedr § ek B %9 4o
W g B Al 25% o9 Bl € B I 15% IR I
o W 275 T 1 AR g @ fowa goa @ g af

T & fag, s 2
(A) 2200 (B) 2400
(C) 2500 (D) 2300

'A' calculates profit on S.P. and 'B'
calculates on c.P. If the S.P. a A and B is
Rs. 1800 each and profit earned by 'A' is
20% and 'B' is 20%, then the difference of
then profit is?

A T A fosa g W Sl © 3R B 9 4o
W AfE S T e 1800 % B A R 20%
o I 21 B &It Ak I w1 faRa gor wEE ®
IR 20% 1 1N FA1 7 A S B ol 1 SR
Bm?
(A) 40
(C) 60

(B) 70
(D) 90

Maths 5y Bhagwati Prasad Sir



57.

58.

3600. He sold the 1%t article at 30% loss and
27d article at 25% profit. Calculate the
amount of profit or loss earned by him if
the C.P. of 1 article is equal to the S.P. of
2nd article.

Toh THFER A a5 3600 T § TSl Bl TEel 9%
1 TE 30% I B W AR T T8 HT 25% NT R
S € SEH 5N Al e A w e el
TR aE] I A Yod T o] % I Jod & AR
=17

(A) 200 (B) 300

(C) 100 (D) 400

A shopkeeper purchased two articles for a
certain amount. He sells the first article at

1
a loss of 33g% and 2™ article at a loss of

20%. If he bears a loss of Rs. 560 on whole
transactin, find the S.P. of both article. If
the C.P. of 1st article is equal to S.P. of 2™
article.

% At < g e om afer o wrdiear @1 veeht

1
T 335% 1 T TR s @ 3R gEd h 20%

F1 T R g9 2 AfE R R WY 560 F B St
&l S T STerT-erent fashd god A g Atk el
I H A oI U I F [THT qod F a0 77
(A) SP,=640, SP,=800

(B) SP,=640, SP,=800

(C) SP,=640, SP,=800

(D) SP,=640, SP,=800

Madan purchase a book a pen for ¥24000.
He sold the book at 13% profit and pen at
17% profit. If he sold the book at 17% profit
and pen at 13% profit he earns ¥80 more.
Find their individual cost price.

e T TrarE SR U9 24000 T H TiEar 21 @E
ferama &1 13% 3K 99 &1 17% o9 W =@ 21 3R
T fhae & 17% 3 9 &l 13% oY W a9 39
80 & Sl faelw| forame ok U9 &1 %, . W HA
(A) B=13500; P=11500
(B) B=12500; P=10500
(C) B=14500; P=12500
(D) B=13000; P=11000

Maths »y Bhagwati Prasad Sir
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59. Tula Ram sold a book at 9% profit and a

pen at 13% p. If he sold the book at 13%
profit and the pen at 9% profit, he gain 80
more, Find the cost price of book and pen,
if he purchase both at ¥40000.

qell TH 3 T TR 9% A T Tk U4 13% @19 W
| SR I8 TR 13% IR T 9% o9 W S ot 3
80 % a1 el fopae ik O %1 %, 4. 9@ HA
SR I8 A I 40000 H T 2

(A) B=21000; P=19000

(B) B=11000; P=9000

(C) B=12500; P=10500

(D) B=10500; P=85000

A shopkeeper bought two cycles in ¥1950.
If he sold 1%t cycle at 10% profit and 27 at
20% profit, he earns a certain profit. If he
sold 1%t at 20% profit and 27 at 10% profit,

he got I5 more. The price of both the cycle.
is:

T& FHMRR 7 1950 . ¥ q WEfhd BRI 397 T80l
T 10% T THA AT 20% AT T I TR I8 Tgelt
1 20% T THA I 10% TNH WD @ 39 5 T SR
el ST wEfRe *1 %, 4, F@ HA

(A) 1000, 950 (B) 725, 675

(C) 700, 650 (D) 650, 600

The total cost of 8 books and 5 pens is 92.

If the cost of 5 books and 8 pens is I77.
Find the cost of 3 books and 2 pens.

8 Tehemat 3R 5 U 1 et w92 %. €1 AfE 5 femarai
3R § U 1 HiHa 77 . €, ql 3 Tehamai oK 2 U i

A 1 HU
(A) T35 (B) 38
(C) %42 (D) 33

62. Amar sells a pen at 5% loss and a book at

15% profit. He gets ¥14 as profit. If he sells
the pen at 5% profit and the book at 10%
profit, he gets ¥26 more. The prices of book
and pen are:

I TH U7 F 5% B qen Tord@ &1 15% o9 w0
IR FHA 14 T AT HAC T S T8 U A 5%
oA 3R R H 10% oM W A A 26 B AR
FH T e R U 1 ge T

(A) B=160; P=200  (B) B=175; P=195

(C) B=160; P=180 (D) B=190; P=110

Profit and Loss | T 31 &ifs
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63. Digvijay sells a table at 12% loss and a book

on 19% profit and earns a profit of ¥60 but
if he sell the table at 12% profit and book
at 16% loss then he bears a loss of ¥30.
Find the price of the book.

ffas™ ©&F 99 &1 12% =6 9 T fmae & 19%
oA W Sl S 60 T HT AT FHAC T IR T8
TS AT 12% o9 9 Thae 1 16% B W= @ 30

T. & Bl BN fRaE 1 g 9@ H

1
(A) 10835 (B) 1000

(C) 1100 (D) 1200

64. Shivam sells a table at 15% profit and a chair

at 12% loss and earn Rs 270 as profit. If he
sells the table at 12% loss and chair at 15%
profit then he bears no profit no loss. Find
the price of table and chair.

foem TF B9 A 15% 9 T FHH B 12% B W
Sl € $IR 270 %, o R @1 3R 9 S H 12%
BI e /AT T 15% MH TR 99 A1 39 HIE A9/
FE B T q A H I A HA

(A) T= 12000; C=1000

(B) T= 5000; C=4000

(C) T= 13000; C=11000

(D) T= 11000; C=9000

65. Harish sells a book and a table at 13% and

9% profit respectively and earns ¥530 as

2
profit. But if he sells the book at 165 % profit

1
and table at 115 % loss then bears no profit

no loss. Find the CP.
O T Tohdme SR A 1 HHAL: 13% T 9% A9 W
el € 3R 530 %, o9 HH 21 I SR o8 TR

aﬁw%%wwaﬁaaﬁnéwﬁwaﬁw

FE /R T E A SR AW @ e S
Eaul

(A) B= 2000; T=3000

(B) B= 3500; T=5500

(C) B= 4500; T=6500

(D) B= 5000; T=6500

Profit and Loss | 11 3 g1f+

66.

Kartik purchased a home and a shop. he
sold the shop at 10% profit and home at
10% loss and selling price of both the
articles is same (Rs. 100000 each). Find the
amount of loss.

FHifdeh 4 Tk X AR M TS ST ThH B 10%
AT T R A 10% B W A fm 34w fa g

TH-TF o 2| B A F

22
(A) 55 lakh (B) 3 lakh

2 2
(C) 7 lakh (D) <5 lakh

067. A house and a shop were sold for Rs 1 lakh

68.

69.

each. In this transaction, the house sale
resulted into 20% loss wshereas the shop
sale into 20% profit. The entire transaction
resulted in:

T ¥R AT THM, T&AF Kl | @ H &= TN HRH
T 20% T BT g a1 FHRM W 20% T M9 g,
T HR w1 IR A @12

1 1
(A) loss of ?E lakh (B) loss of ?E lakh

1
(C) loss of X ﬁlakh (D) No loss no gain

A dealer sold 2 TV sets for 2400 each and
earns 20% profit on 1st article and 20% loss
on 2nd article. Find his total profit or loss.

T SIeR 7 2 TaifasH Y& 2400 & & oo 9 a9
I TEA W 20% @I ql T W 20% T gL
/T [

(A) 300 L (B) 250 L

(C)220L (D) 200 L

A man sells two T.V. AT Rs 396 each. On
one he gains 10% and on the other he loses

10%. His profit or loss in the whole
transaction is :

TF AfH 396 T Ufa Iefifosa it R | I Ao
Sl 81 IR Jefifers TR S 10% 1 @19 Bl © A
T A & TR Y 10% HI 79 A T, A T
TR WA H IHE! 1 A B A HA
(A) 8 % Profit (B) 1 % loss
(C) 1 % Profit (D) 10% loss

Maths 5y Bhagwati Prasad Sir



71.

72.

73.

74.

75.

same price. There is a gain of 20% on one
A.C. and a loss of 20% on the other. State
which of the following statement is correct?

wferd =M seR godi | § THll. 92 s 21 AR
TH T IH 20% T AT I A1 TR TR 3 20%
B g o T W A W FHeH T 72

(A) Loss by 4% (B) Gains by 4%

(C) Loss by 20% (D) No net gain or profit
Nishank Pathak marks his goods 30% above

his cost price but allows a discount of 10%
at the time of sale. His gain is:

1eisk aTee ST WM 1 SifRd Iod sHS %A T 9
30% 3R Afeha el €, T €, T S q9A e
10% 1 9221 A1 | o SHRN @19 giaww gl

(A) 18% (B) 17%

(C) 19% (D) 20%

A dozen pair of socks quoted at Rs. 80 are

available at a discount of 10%. How many
pairs of socks can be bought for Rs. 24?

U T T TS Sl e siferd 9o 80%. @ W
10% T B2 < A T 24 % H JU& w1 fwRa St
TG S Tt 77

(A) S (B) 3

(C) 4 (D) 6

A shopkeeper always gives discount equal
to 25% and gains 25%. If the C.P. of the
article is Rs. 1440, then find the MRP.

TH THMIR ST TGN W 25% Hl B2 a1 & 91
25% TN FHAM T I % F1 FF God 1440 % & A
%] 1 3ifha goa BM?

(A) 4800 (B) 2400

(C) 1100 (D) 1200

By selling an article for Rs. 15,600 a man
allows 8% discount and earns 19.6% profit.

If he did not give any discount what would
be his profit percent?

TF A 8% FI BT A H AR A 19.6% FH @A
FUM ® AR 9% w2 7 % FR wfaed w oaw
FHEE A g H faET g 15,600 . T

(A) 30% (B) 40%

(C) 25% (D) 20%

An fan is listed at Rs. 1500 and a discount
of 20% is offered on the list price. What
additional discount must be offered to the

customer now to bring the net price to Rs.
11042

Maths »y Bhagwati Prasad Sir

76.

77.

78.

79.
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TF T H1 AT G 1500 T 7 IR sifeRd goa W
20% H S I 7, A TR F 1104 TR F T
% foru T% sl P T2 & w82

(A) 10% (B) 9%

(C) 15% (D) 8%

The marked price of a TV is Rs. 16000. After
two successive discount it is sold for Rs.

11400. If the first discount is 5%, then the
rate f second discount is:

fereft et =1 @ifeRa ToT 16000 €T B1 T HiFw w2
% 91K T8 11400 €9 H 91 9T 1 A TRl B2 5%
T, @ T g R FR @7

(A) 25% (B) 20%

(C) 10% (D) 30%

The marked price of a watch is Rs. 1600.
The shopkeeper gives successive discount
of 10% and x% to the customer. If the

customer pays Rs. 1224 for the watch, the
value of x is:

T Tl H AT G 1600 T T AT foshel Th
THITER 1 HHAFAR 10% T x% i 92 31 8 3R
TIER S 1224 9 § TR ol 81 TGIER x H
HH 1 27

(A) 10% (B) 20%

(C) 15% (D) 12%

An article of cost price Rs. 8000 is marked
at Rs. 11200. After allowing a discount of

x% a profit of 12% is made. The value of x
is:

TF R f9E w9 g 8000 T B, WA SifeRd
o 11200 T € q€1 x% H1 T A 918 off 9@
12% 1 o149 W il €, a x 1 §F #4177

(A) 25% (B) 20%

(C) 22% (D) 21%

A machine is marked at Rs. 6800 and
available at a discount of 10%. The
shopkeeper gives another off season

discount to the buyer and sells the machine
for Rs. 5202. Find the off season discount.

T WA foreen Sifd qoF 6800 T4 B, 10% HT T2
% Y ITAH B THAIR BRIGIR i off season &
IWE T AR g2 I 7 SR el B 5202 T
¥ 99 31 € @ off season B2 Fha 72

(A) 10% (B) 15%

(C) 12% (D) 18%

Profit and Loss | T 31 &ifs
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80.

81.

82.

83.

84.

Manu Chaudhary marked the selling price
of an article at 10% above the cost price. At
the timeof selling he allows certain discount
and suffers a loss of 1%. He allowed the
discount of:

T el o w1 HfRd 9o TU T goF ¥ 10%
Aferr  3iferd wear 21 9=d THg 98w FAfved =2
THL 1% I B IS 7, A ST S T F 7
(A) 11% (B) 10%

(C) 9% (D) 10.5%

A dealer buys an article marked at Rs.
25000 with 20% and 5% off. He spends Rs.
1000 for its repair and sells it for Rs. 25000.
What is his gain or loss percent?

T AN fordt axg 1 e siferd 9o 25000 =
2 %1 &1 HANT B2 HHL: 20% T 5% F T Tl
g 9% T8 3% = H 1000 TR TH w4 T SR
25000 ETF ¥ 9 AT 1 SHRT AT % AT T %
2?

(A) Loss of 25% (B) Loss of 10%

(C) Gain of 10% (D) Gain of 25%

The marked price of a table is Rs. 800. A
retailer bought it after two successive
discounts of 10% and 15%. He spent Rs.

13 transportation and sold it for Rs. 875.
His profit was:

forelt ot 1 3ifeRd I 800 TIF 71 Tk GRA AR
T T KR T 10% T 15% & T ST 21 T8
IEEE W 13 T T HA QI T 875 T H
o9 3@ T TR A g = 22

(A) 40% (B) 37%

(C) 28% (D) 25%

The marked price of an electric from is Rs.
690. The shopkeeper allows a discount of

10% and gains 8%. If no discount is allowed,
his gain percent would be:

T foe Tt 1 Sifhd go 690 T 1 T THEIR
T W 10% B2 3T F X 8% HI AT HAM | AR
HE o T2 T8 A I ar TR A U o gm?
(A) 20% (B) 24%

(C) 25% (D) 28%

In order to maintain the price line a trader
allows a discount of 10% on the markekd

Profit and Loss | 11 3 g1f+
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85.

86.

price of an article. However, he still marks
a profit of 17% on the cost price. Had he
sold the article at the marked price, he
would have earned a profit percent of:

3faa g a9 wH & fau & fomar foedt ag &
SAfehd Fod W 10% T B2 I T TS TSR o, T
F4 qod R 17% 1 o9 W w1 AR IE 59
3ifera o I o1 B a1 39 foRa wfaer e B
(A) 30% (B) 32%

(C) 33% (D) 35%

A shopkeeper allows 25% discount on
marked price and earns 30% profit. If he

gets Rs. 90 as profit, find the amount of the
discount.

T HAER Afhd qod W 25% =221 <al § SN 30%
oA FHC 1 SR SHEKT 9 90 €I € Al 722 7
Eaul

(A) 125 (B) 135

(C) 140 (D) 130

By how much percent a shopkeeper mark

his goods above its cost price so as by giving
20% discount he may gain 10%?

T THMIR I ST G i HHd %9 o 9 fored
i ST € aifeRd e =T sk 20% 92 I
At 9% 10% 9 FAT?

1

(A) 37%% (B) 355%
(©) 32%% (D) 35%%

87. By how much percent a shopkeeper mark

his goods above its cost price so as by giving
10% discount he may gain 30%

T HMSIR 1 ST TEsTl 1 HHd wd god 9 fope
Tiaerd a1 SR F e R 10% w2 3R St
T 30% T FHHT?

(A) 45%% (B) 46%%
(©) 44%% (D) 43%%

Maths 5y Bhagwati Prasad Sir



89.

90.

91.

price that after allwing a discount of 12.5%
on the marked price he can earn a profit of
20% of the article that cost him Rs. 1400
then find its marked price.

T JHMIR ST 3Tl 1 T 30 YR 3Afoha HLar
g T 12.5% 922 98 20% @19 FHAM 2| SR THH
F9 o 1400 19 8 1 iR god T F

(A) 1950 (B) 1925

(C) 1920 (D) 1935

By selling an article for Rs. 15600, a man
allows 8% discount and earns 19.6% profit.

If the article is sold at 0% discount what
should be the profit %?

T a5 15600 9 § = Tk STEH! 8% &1 Ial
2 3l 19.6% o9 FHHC T 3R 922 0% B al @1w
% T FUI

(A) 30% (B) 32%

(C) 28% (D) 40%

By selling an article for Rs. 1170, a man
allows 10% discount and earns 30% profit.

If the article is sold at 5% discount what
should be the profit %?

1170 9 | fHe = o1 = Th STEHT 10% T
1 ? 3R 30% o FHHC 21 3R I 5% e a @1
% M |

(A) 35%% (B) 37%%
(C) 33%% (D) 31%%

An article is listed at Rs. 900 and two
successive discounts of 8% and 8% are
given onit. How much would the seller gain
or loss, if he gives a single discount of 16%
instead of two discount?

Th T W 900 T 3ifepd fhan T B 3@ W
ik T I SE Tk Fhall 16% F g S 7
A F= A I fwRa % w1 e @ I Erm?

(A) Gain of Rs. 4.76 (B) Loss of Rs. 5.76
(C) Gain of Rs. 5.76 (D) Loss of Rs. 4.76

Maths »y Bhagwati Prasad Sir
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93.

94.

95.
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In a shop article are usually sold at 40%
above the cost price. During a sale, the
shopkeeper offers a discount of 10% on the
usual selling price. If he manages to sell
72 shirts for Rs. 13608, then his cost price
per shirt is:

T JHMRR | AYR0E: TRt o] ol 36 %d A
T 40% ek i hish == STl 81 TF Het  SRH
THMAR ok God W 10% FI g2 a1 71 AfE 9 72
FHHIS H 13608 T H S=dl €, d Yok S

w9 qod H1 27
(A) 210 (B) 150
(C) 149 (D) 125

If a person purchases a shirt, he gets 6%
discount. However, if he purchases two
shirts, he gets 5% on the first and 8% on
the second. If the price paid by the person
for two shirts is Rs. 925, then what will be
the marked price of each shirt?

If% w% =fa TF FHS TlEd § U 6% w2 A
T 71 ek AR gE q wHW TR 3§ wwed
FHS W 5% AR T FHS W 8% L et af
Al g1 & FHSH ® fAC 925 T4 H P fowan
T R @ sk IS 1 Afhd god @ g2

(A) 494 (B) 550

(C) 528 (D) 500

A person buys a bag at 25% discount on its
original price. After few days, he sells it to

his friend at 40% increase on the original

price. What is his profit percentage (approx)
2

T A 3 Tk A F 3G IRATE oI W 25% B2
* Y T Y G # 9" ST 9' o sush
AT ed | 40% e W 79 = = o= faam
ITHT M HT AT e o 72

(A) 75% (B) 80%

(C) 87% (D) 85%

If in sale, the discount given on a saree is
equal to one-fourth the marked price and
the loss due to this discount is 15% , then
the ratio of the cost price ot the selling price
is:

Ifs forddt fospt & W€t WA T ge, Fifed 99 &
TH-AE & TR 7, 7 AR Jod H1 fosha geg o
1 A T ATE TEH 15% I B B2

(A)3: 4 (B)4:3

(C) 10 : 17 (D) 20 : 17

Profit and Loss | T 31X &1+
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96.

97.

98.

If the proﬁt on sellmg an article for ¥ 725 is

the same as the loss on selling it for ¥ 355,
then the cost price of the article is

AR 425 €9 H TH a5 d91 T AV, 355 €9 W
T8 999 % THAM & TEM T A o AR qod 77
(A) %370 (B) %380

(C) %390 (D) %400

The profit obtained by selling an article for
Rs. 625 is same as the loss incurred if it is
sold for Rs. 545. The price at which it is to

be sold to realize a profit of Rs. 65 on the
cost price is

A 625 ®IF HI TH & 94 W AT |, 545 @ T
T IO % THAM & UM 21 A 9% AN Jod W65
T H AT UG FHEAT Al 7, 9 SR T god
T ?

(A) 640 (B) ¥630

(C) 650 (D) 3660

A clock was sold for Rs.144. If the

percentage of profit was numerically equal
to the cost price, the cost of the clock was.

144 T3 W TH HSI o= T3 off| A a9 w1 gfowa
&S ®1 ¥ AFA Jod & a0 o, @ uEl h
A eft?

Profit and Loss | 11 3 g1f+
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99.

100.

(A) T72 (B) 280
(C) %90 (D) 100

If the profit percent got on selling an article

is numerically equal to its cost price in
rupees and the selling price is ¥39. then
cost price (in %) will be

I TH TR SO W AT U TIF H SHR! AN
T % TR ¢ IR fahl 9o 39 0 2, A o

T (T W) B
(A) 20 B) 22
(C) 28 (D) 30
A merchant sold an article for ¥ 75 at a profit

percent equal to its cost pirce. the cost price
of the article was:

A Tk o] 99 TR T €9 | 6! AN oA
% TR T R okl ge7 75 €@ 7, A A qod
(®78 ) Bhm?
(A) T45
(C) T54

(B) Z50
(D) 360

Maths 5y Bhagwati Prasad Sir



